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om. FIHEEEs
1. PET-CT & & (4 &)
FUES A&t | e}
PET-CT 1,300,000 FREg
PET-CT 1,100,000 SRHL
2. MRl H& (%=t &)
dEs A&} Hl
FEMRI 350,000 2olH 2
& S MRA 680,000
S S MRI&MRA 1,046,000
2 MR 680,000
Z=MRI 680,000
Extremity; upper MRI 680,000
Extremity: lower MRI 680,000
knee-MRI 680, 000
knee-MRI 680,000
MRI(Brain+Angio+AD/PD) 600,000 AR(XION AIERH)
3. JIEt Forg s (=2 &)
eSS &I} HI1
SSCT 120,000
B2CT 200,000
F=CT 130,000
2FCT 130,000
LA E S0t 170,000
SLAZ=ST B —
=L ZA 50,000
XS 200,000
ASUE S 140,000
SWESH A 48,000
SOUAIE 90,000
28 S3t X A 200,000
S - Patch(S£& % ZAl) 200,000
Gastro Panel 90,000 SIS AHECIRIZ)
2|8 HA 150,000 CHEQ 2AH(EOIRS)




